

## On an Open Problems of F. Qi

A. Senouci

Laboratory of Computer Sciences and Mathematics, University of Tiaret,  
Faculty of Mathematics and Computer Sciences,  
University of Tiaret, Tiaret, Algeria  
e-mail:kamer295@yahoo.fr

Received 12 february 2020; Accepted 15 may 2020

(Communicated by Zoubir Dahmani)

### Abstract

*In this paper, we propose the answer to an open problem recently posed. In addition, we derive some inequalities by introducing certain parameters  $\lambda$ ,  $p$  and  $q$ .*

**Keywords:** *Inequalities, open problems, Qi inequality.*

**2010 Mathematics Subject Classification:** 03F55, 46S40.

## 1 Introduction

Some results involving open problems of F. Qi were established and proved earlier by K. Tibor Pogany (cf. [6]). Other results were obtained for positive operators in Hilbert space (for details, see [2]). Then, B. Belaidi et al. (see [1]) were particularly interested in the following two problems posed in [3]:

**Problem 1.1** *For  $x_i \geq 0$ ,  $i = 1, 2, \dots, n$ ,  $n \in \mathbb{N}$ ,  $n \geq 2$ , determine the best possible constants  $\alpha_n$ ,  $\lambda_n \in \mathbb{R}$  and  $\beta_n > 0$ ,  $\mu_n < \infty$  such that*

$$\beta_n \sum_{i=1}^n x_i^{\alpha_n} \leq \exp \left( \sum_{i=1}^n x_i \right) \leq \mu_n \sum_{i=1}^n x_i^{\lambda_n}. \quad (1)$$

**Problem 1.2** *What is the integral analogue of the two-sided inequality (1)?*

In the following theorems and lemmas were recently given the answers to open Problems 1.1 and 1.2 (for details See[1]):

**Theorem 1.3** Let  $p \geq 1$   $x_i \in (0, \infty)$ ,  $i = 1, 2, \dots, n$ ,  $n \in \mathbb{N}$  and  $n \geq 2$ , then

$$\sum_{i=1}^n x_i^p \leq \frac{p^p}{e^p} \exp \left( \sum_{i=1}^n x_i \right). \quad (2)$$

The factor  $\frac{p^p}{e^p}$  is the best possible in this inequality (the smallest constant independent of  $x_i$ ).

**Theorem 1.4** Let  $0 < p \leq 1$   $x_i \in (0, \infty)$ ,  $i = 1, 2, \dots, n$ ,  $n \in \mathbb{N}$  and  $n \geq 2$ , then

$$\sum_{i=1}^n x_i^p \leq n^{1-p} \frac{p^p}{e^p} \exp \left( \sum_{i=1}^n x_i \right). \quad (3)$$

The constant  $n^{1-p} \frac{p^p}{e^p}$  is the best possible in (3).

**Lemma 1.5** Let  $p > 0$   $x \in (0, \infty)$ , then

$$x^p \leq \frac{p^p}{e^p} e^x. \quad (4)$$

The constant  $\frac{p^p}{e^p}$  is the best possible in (4).

**Lemma 1.6** Let  $p > 0$ ,  $x_i \in (0, \infty)$ ,  $i = 1, 2, \dots, n$ ,  $n \in \mathbb{N}$  and  $n \geq 2$ , then

(i) For  $p \geq 1$

$$\sum_{i=1}^n x_i^p \leq \left( \sum_{i=1}^n x_i \right)^p. \quad (5)$$

(ii) For  $0 < p \leq 1$

$$n^{p-1} \sum_{i=1}^n x_i^p \leq \left( \sum_{i=1}^n x_i \right)^p. \quad (6)$$

**Theorem 1.7** Let  $p > 0$   $n \geq 2$ , then

$$\exp \left( \sum_{i=1}^n x_i \right) \leq \frac{p^p}{n} e^{np} \sum_{i=1}^n x_i^{-p} \quad (7)$$

holds for  $0 < x_i \leq p$ ,  $1 \leq i \leq n$ . The constant  $\frac{p^p}{n} e^{np}$  is the best possible.

In [4] the following lemmas and theorem were proved.

**Lemma 1.8** *Let  $(x_i)$  be a sequence of non negative real numbers and let  $0 < p \leq q \leq \infty$ , then*

$$\left( \sum_{i=1}^n x_i^q \right)^{\frac{1}{q}} \leq \left( \sum_{i=1}^n x_i^p \right)^{\frac{1}{p}} \leq n^{\frac{1}{p}-\frac{1}{q}} \left( \sum_{i=1}^n x_i^q \right)^{\frac{1}{q}}. \quad (8)$$

**Theorem 1.9** *Let  $0 < p \leq q$ , and  $x_i > 0$ ,  $i = 1, 2, \dots, n$ ,  $n \in \mathbb{N}$ , then*

$$\sum_{i=1}^n x_i^p \leq n^{1-\frac{p}{q}} \frac{p^p}{e^p} \exp \left( \sum_{i=1}^n x_i^q \right)^{\frac{1}{q}}. \quad (9)$$

*The constant  $n^{1-\frac{p}{q}} \frac{p^p}{e^p}$  is the best possible.*

**Lemma 1.10** *Let  $0 < p < q \leq \infty$ , and  $f, w$  be non negative Lebesgue measurable function on  $[a, b]$  such that  $\int_a^b f^q w dx < \infty$ , then*

$$\left( \int_a^b f^p w dx \right)^{\frac{1}{p}} \leq \left( \int_a^b w dx \right)^{\frac{1}{p}-\frac{1}{q}} \left( \int_a^b f^q w dx \right)^{\frac{1}{q}}. \quad (10)$$

In [5] was proved the following theorem.

**Theorem 1.11** *Let  $p > 0$ ,  $x_i \geq 0$ ,  $i = 1, 2, \dots, n$ ,  $n \in \mathbb{N}$ ,  $n \geq 2$ ,  $\lambda_i > 0$ .*

1) *If  $p \geq 1$ , then*

$$\sum_{i=1}^n \lambda_i^p x_i^p \leq \frac{p^p}{e^p} \exp \sum_{i=1}^n \lambda_i x_i. \quad (11)$$

2) *If  $0 < p \leq 1$ , then*

$$\sum_{i=1}^n \lambda_i x_i^p \leq \frac{p^p}{e^p} \left( \sum_{i=1}^n \lambda_i \right)^{1-p} \exp \sum_{i=1}^n \lambda_i x_i. \quad (12)$$

*The constant  $\frac{p^p}{e^p}$  is the best possible.*

In [5], the following problem is posed: let  $p, q$  be real parameters such that  $0 < p \leq q \leq \infty$  and  $x_i \geq 0$ ,  $\lambda_i > 0$ ,  $i = 1, 2, \dots, n$ ,  $n \geq 2$ . Give the integral analogue of inequalities (11) and (12) for two parameters  $p$  and  $q$  with the best possible constant.

The aim of the present article, in one hand, is to give an answer to this open problem and on the other hand, to generalize some inequalities obtained in [1] and [4].

## 2 Main results

In the following theorem, we give an answer to the proposed open problem 3.1 in [5]. The sharp constant (best possible) is determined only for the case  $p = q$ .

**Theorem 2.1** *Let  $0 < p \leq q \leq \infty$ ,  $0 < \lambda < \infty$ ,  $f$  be a non negative Lebesgue measurable function on  $[a, b]$  such that  $\int_a^b f^q dx < \infty$ .*

1) If  $p \geq 1$ , then

$$\int_a^b \lambda^p f^p dx \leq (b-a)^{\frac{1}{p}-\frac{1}{q}} \frac{p^p}{e^p} \exp \left( \int_a^b \lambda^q f^q dx \right)^{\frac{1}{q}}. \quad (13)$$

2) If  $0 < p \leq 1$ , then

$$\int_a^b \lambda f^p dx \leq (b-a)^{\frac{1}{p}-\frac{1}{q}} \frac{p^p}{e^p} \exp \left( \int_a^b \lambda^{\frac{q}{p}} f^q dx \right)^{\frac{1}{q}}. \quad (14)$$

**Proof 2.2** 1)  $p \geq 1$ .

Let  $g = \lambda f$ . By applying Lemma 1.5 with  $x = \left( \int_a^b g^q dx \right)^{\frac{1}{q}}$ , we get

$$\left( \int_a^b g^q dx \right)^{\frac{p}{q}} \leq \frac{p^p}{e^p} \exp \left( \int_a^b g^q dx \right)^{\frac{1}{q}}. \quad (15)$$

Now, taking into account (10) with  $w = 1$  and inequality (15), we conclude that

$$\begin{aligned} \left( \int_a^b g^p dx \right) &\leq (b-a)^{1-\frac{p}{q}} \left( \int_a^b g^q dx \right)^{\frac{p}{q}} \\ &\leq (b-a)^{1-\frac{p}{q}} \frac{p^p}{e^p} \exp \left( \int_a^b g^q dx \right)^{\frac{p}{q}}. \end{aligned}$$

Thus

$$\left( \int_a^b \lambda^q f^q dx \right) \leq (b-a)^{1-\frac{p}{q}} \frac{p^p}{e^p} \exp \left( \int_a^b \lambda^q f^q dx \right)^{\frac{1}{q}}.$$

2)  $0 < p \leq 1$ .

By setting  $g = \lambda^{\frac{1}{q}} f$ , similar arguments lead to the inequality (14).

If in (13) and (14) we put  $q = p$ , we obtain the following corollary.

**Corollary 2.3** *Let  $0 < p \leq \infty$ ,  $0 < \lambda < \infty$ ,  $f$  be a non negative Lebesgue measurable function on  $[a, b]$  such that  $\int_a^b \lambda^p f^p dx < \infty$ .*

1) If  $p \geq 1$ , then

$$\int_a^b \lambda^p f^p dx \leq \frac{p^p}{e^p} \exp \left( \int_a^b \lambda^p f^p dx \right)^{\frac{1}{p}}. \quad (16)$$

Equality in (16) holds if  $f(x) = \frac{p(b-a)^{-\frac{1}{p}}}{\lambda}$ . Thus the constant  $\frac{p^p}{e^p}$  is the best possible (the smallest constant independent of function  $f$ ).

2) If  $0 < p \leq 1$ , then

$$\int_a^b \lambda f^p dx \leq \frac{p^p}{e^p} \exp \left( \int_a^b \lambda f^p dx \right)^{\frac{1}{p}}. \quad (17)$$

Equality in (17) holds if  $f(x) = \frac{p(b-a)^{-\frac{1}{p}}}{\lambda^{\frac{1}{p}}}$ . Thus the constant  $\frac{p^p}{e^p}$  is the best possible.

By putting  $y_i = \lambda_i x_i$  in inequality (8), we have the following corollary.

**Corollary 2.4** Let  $(x_i)$  be a sequence of non negative real numbers and  $0 < p \leq q \leq \infty$ ,  $\lambda_i > 0$ ,  $i = 1, 2, \dots, n$ , then

$$\left( \sum_{i=1}^n \lambda_i^q x_i^q \right)^{\frac{1}{q}} \leq \left( \sum_{i=1}^n \lambda_i^p x_i^p \right)^{\frac{1}{p}} \leq n^{\frac{1}{p} - \frac{1}{q}} \left( \sum_{i=1}^n \lambda_i^q x_i^q \right)^{\frac{1}{q}}. \quad (18)$$

**Theorem 2.5** Let  $0 < p \leq q \leq \infty$ ,  $x_i > 0$ ,  $\lambda_i > 0$   $i = 1, 2, \dots, n$ , then

$$\sum_{i=1}^n \lambda_i^p x_i^p \leq n^{1 - \frac{p}{q}} \frac{p^p}{e^p} \exp \left( \sum_{i=1}^n (\lambda_i^q x_i^q) \right)^{\frac{1}{q}}. \quad (19)$$

The constant  $n^{1 - \frac{p}{q}} \frac{p^p}{e^p}$  is the best possible.

**Proof 2.6** By using the right hand side of double inequality (18) and Lemma 1.5, we obtain

$$\begin{aligned} \left( \sum_{i=1}^n \lambda_i^p x_i^p \right) &\leq n^{1 - \frac{p}{q}} \left( \sum_{i=1}^n (\lambda_i^q x_i^q) \right)^{\frac{p}{q}} \\ &\leq n^{1 - \frac{p}{q}} \frac{p^p}{e^p} \exp \left( \sum_{i=1}^n (\lambda_i^q x_i^q) \right)^{\frac{1}{q}}. \end{aligned}$$

By taking in (19)  $x_i = \frac{pn^{-\frac{1}{q}}}{\lambda_i}$ , we have equality and we conclude that  $n^{1 - \frac{p}{q}} \frac{p^p}{e^p}$  is the best possible constant.

**Remark 2.7** 1) If in (19)  $\lambda_i = 1$ ,  $i = 1, \dots, n$ , then we have inequality (9) of Theorem 1.9 with the best constant  $n^{1-\frac{p}{q}} \frac{p^p}{e^p}$ .

2) If in (19)  $q = 1$ , we get the following Corollary.

**Corollary 2.8** Let  $0 < p \leq 1 \leq \infty$ ,  $x_i > 0$ ,  $\lambda_i > 0$ ,  $i = 1, 2, \dots, n$ ,  $n \in \mathbb{N}$ , then

$$\sum_{i=1}^n \lambda_i^p x_i^p \leq n^{1-p} \frac{p^p}{e^p} \exp \sum_{i=1}^n \lambda_i x_i. \quad (20)$$

**Remark 2.9** If in (20)  $\lambda_i = 1$ ,  $i = 1, \dots, n$  we obtain inequality (3).

**Theorem 2.10** Let  $p > 0$ ,  $x_i \geq 0$ ,  $0 < x_i \leq p$ ,  $\lambda_i > 0$ ,  $i = 1, 2, \dots, n$ ,  $n \geq 2$ .

1) If  $p \geq 1$ , then

$$\sum_{i=1}^n \lambda_i^p x_i^p \leq \frac{e^{p(x-1)}}{n} p^{2p} \sum_{i=1}^n (\lambda_i x_i)^{-p}. \quad (21)$$

2) If  $0 < p \leq 1$ , then

$$\sum_{i=1}^n \lambda_i x_i^p \leq \sum_{i=1}^n (\lambda_i)^{1-p} \frac{e^{p(n-1)}}{n} p^{2p} \sum_{i=1}^n (\lambda_i x_i)^{-p}. \quad (22)$$

**Proof 2.11** 1)  $p \geq 1$ . If in (7) we put  $y_i = \lambda_i x_i$ , we have

$$\exp \sum_{i=1}^n y_i \leq \frac{p^p}{n} e^{np} \sum_{i=1}^n y_i^{-p},$$

thus

$$\exp \sum_{i=1}^n \lambda_i x_i \leq \frac{p^p}{n} e^{np} \sum_{i=1}^n (\lambda_i x_i)^{-p}. \quad (*)$$

By (11) and (\*), we get

$$\frac{e^p}{p^p} \sum_{i=1}^n \lambda_i^p x_i^p \leq \exp \sum_{i=1}^n \lambda_i x_i \leq \frac{p^p}{n} e^{np} \sum_{i=1}^n (\lambda_i x_i)^{-p}.$$

Consequently

$$\sum_{i=1}^n \lambda_i^p x_i^p \leq \frac{e^{p(n-1)p2p}}{n} \sum_{i=1}^n (\lambda_i x_i)^{-p}.$$

2)  $0 < p \leq 1$ .

By using (12) and (\*) we obtain inequality (22).

The proof is complete.

**Theorem 2.12** *Let  $p > 0$ ,  $x_i \geq 0$ ,  $\lambda_i > 0$ ,  $i = 1, 2, \dots, n$ , such that  $\sum_{i=1}^{+\infty} \lambda_i x_i < \infty$ ,  $(\sum_{i=1}^{+\infty} \lambda_i) < \infty$ .*

1) *If  $p \geq 1$ , then*

$$\sum_{i=1}^{+\infty} \lambda_i x_i^p \leq \frac{p^p}{e^p} \exp \sum_{i=1}^{+\infty} \lambda_i x_i. \quad (23)$$

2) *If  $0 < p \leq 1$ , then*

$$\sum_{i=1}^{+\infty} \lambda_i x_i^p \leq \frac{p^p}{e^p} \left( \sum_{i=1}^{+\infty} \lambda_i \right)^{1-p} \exp \sum_{i=1}^{+\infty} \lambda_i x_i. \quad (24)$$

*The constant  $\frac{p^p}{e^p}$  is the best possible.*

**Proof 2.13** *Letting  $n \rightarrow +\infty$  in Theorem 1.11, we obtain (23) and (24). If in (23)  $x_i = \frac{p}{\lambda_i}$ , we get equality, then the constant  $\frac{p^p}{e^p}$  is the best possible.*

### 3 Open Problems

**Problem 3.1** *Establish a relation between the inequalities (13) and (14) of the Theorem 2.1 and the well-known Tchebychev inequality.*

**Problem 3.2** *Let  $E \subset \mathbb{R}^n$ ,  $0 < \text{mes} E < \infty$ .*

*If  $0 < p_1 < p < p_2 \leq \infty$ , then*

$$\|f\|_{L_p(E)} \leq \|f\|_{L_{p_1}(E)}^\alpha \|f\|_{L_{p_2}(E)}^{1-\alpha}, \quad (25)$$

*where  $\alpha \in (0, 1)$ . Under what conditions on the parameters  $p_1$ ,  $p$ ,  $p_2$  and  $\alpha$  does the inequality (25) hold?*

**ACKNOWLEDGEMENTS.** This paper is supported by University of Tiaret, PRFU project, code COOL03UN140120180002.

### References

- [1] B. Belaidi, A. El Farissi, Z. Latreuch, *On Open Problems of F. Qi*, J. Inequal. Pure and Appl. Math., vol. 10, iss. 3, Art. 90, (2009).

- [2] B. Bendoukha, H. Bendahmane. *Inequalities between the sum of powers and the exponential of sum of positive and commuting selfadjoint operators*. Archivum Mathematicum, Vol. 47 (2011), No. 4, 257–262.
- [3] F. Qi, *Inequalities between the sum of squares and the exponential of sum of a nonnegative sequence*. J. Inequal. Pure Appl. Math., 8 (2007), no. 3, Art. 78. <http://jipam.vu.edu.au/article.php?sid=895>.
- [4] B. Halim, A. Senouci, *Some generalizations involving open problems of F. Qi*, Int. J. Open Problem Compt. Math., ISSN 1998-6262, volume 12, no. 1, (2019), 9-21.
- [5] A. Senouci, *Further generalizations involving open problems of F. Qi*, Int. J. Open Problem Compt. Math., ISSN 1998-6262, volume 13, no. 1, (2020), 12-21.
- [6] K. Tibor Pogany, *On an Open Problem of F. Qi*, J. Inequal. Pure and Appl. Math., vol. 3, iss. 4, Art. 54, (2002).